LONGER

DG15HEH TR
8 5 89

LONGER

it REERSHEAT LA LR KZREE
6E#BEE3-4E

BR%%: 071051

SHEEEIE: 0312-3138553 3132333 3138011

EEHEIE: 0312-3127877

ISR
BRAIEISR/ RIS

f§H: 0312-3168553
Http: //www.longerpump.com.cn

DG15 Peristaltic Pump Heads

REZREBRREGRQA

Baoding Longer Precision Pump Co., Ltd.

E-mail: info@longerpump.com

=]
AR

DGISRFIRIZAF/NRE. SBERGEHWEMIZIT, 5 FEHRMEER
E, EERRTHMERAT, RRHXRABARME, REBEE. KREE
FEFIREEF A

)

H
=

WK u

DG15 BIRL MR TR

BE | FRES | RAME | RRME | RRE | BB (k) 1 kBT ARTREA, HTFA

DG15-24 | 0101171 4 0.82 =iy

DG15-28 | 0101172 POM RULON®) 8 0.67 2 HEIEEFEHFHEFBREBARE
DG15-48 | 0101173 0.87 ) L, BHmmEFRERE, FaT
=% LESH R EEBALGEGAER )
BHE REEE (mL/min) | #F58E (rpm) ERARE

DG15-24 0.9-1800 <600 16* 25" 17* 3 BEREFRENFREIRSL L

DG15-28 0.5x0.8 1x1 2x1

DG15.48 0.028 - 46 <100 D ax0s 13 14'

3 FA 4L AN T 'r: .

i RIHEAT G O R EREN AR ESTOPH R E HEE NS R

REALE =Y

° AERAITER, BSEERENFRLF, BERNEFERELRE
* EBHETR,

RIMBRBERIFBBFENTE, TUSMREEQNER, HEREER
* HFanMSBIRRERBRR,

R A LA T A0SR h ik i i, R R4 RIER

S MHBEEE, BEKITREEIE: 0312-3127877

M4 x 108247

TR

- RIEE
= i———\\ RARETL AP RRE—E, EREHNNERFREFYKEEEER,
' —— EAARAERE, EFRFEAEITESHETRHETHRE,
& HERELREREENERREIE, BUER D % A G IR .,
AR AT L B B 7= G B/l B 3 R R
RRRE SME R~ ~ —
EEWR S

—_

e (A ) BT [FR], BEET [ RARETL ] HHISZMA16884T, &
[E#R) 5 [EX#E ] K&,

2 FAEMAT0MSTIEN [T ETL ) ¥ [E5EiE ] SRHE LNRAFTRER, o #fzimm
3 @i | WkRETL | HESEMAGIRET R R (EER] L.

4 B [+E ] RRREERS L, A RAES RAEE
5 THERET, wesh [ABIRET ], LURRRIER S H S, Al DG15-24 81.5mm
VOE (AR M, FEAE, BRHOEE, HEFE, EHAHE A2 De15-28 61.0mm
’ ) ) ’ o Y ° A3 DG15- 48 81.5mm




N BERE:
BIERTEFAREIRAR .
o= 23
El =

e RMEMTERARFERK, SBHRENKEREY, X
AR NEFIE&=EGE, ALELEREHRMHE
HRERE |

& Important Information:
Please read operating manual carefully before operation.

& Warning:

® Tubing breakage may result in fluid sprayed from pump. Use appropriate
measures to protect operator and equipment. Please check the tubing
frequently and changing the tubing in time.

DG15 Series Pump Head Structure:
Tubing Clamp

Tubing

Rear Base

Trigger

. Press the Trigger according to the arrow head
direction and take out the cartridges.

. Push the tubing clamps which are on both sides of
the large cartridge upward and insert the tubing to
the holes. Release the tubing clamps and straighten
the tubing to make the tubing on the middle location
of the compression block.

3. Load the cartridge with tubing in the pump head.

4 Note: When load the tubing on the small cartridge, just insert the tubing
with stops into the slots of the cartridge.

1. Press Trigger and take out Cartridge. Turn 3 pieces M4*16 screws which are inthe
Mounting Hole for pump head to disengage the Connecting Board and the Rear Base.

2. Insertthe 4 pieces M4*10 screws into Mounting Hole for Connecting Board. Tighten
the screws to fixthe Connecting Board to the pump head bracket of the drive.

3. Insert the 3 pieces M4*16 screws into Mounting Hole for Pump Head. Tighten the
screws to install the pump head on the Connecting Board.

4. Loadthe Cartridges onthe pump head.

5. Inrunning state, turn the Adjusting Knob. The optimum location is the fluids can be
Pumped barely.

3 Prompt:
Tighten the Mounting Screws in the same degree. Over-tighten the screws
is forbidden.

Maintenance

» Whenthe pumpisidle, we recommend you to release the tubing from
pressure.

* This helps to protect the tubing from unnecessary strain and prolongs its
service life

» Keep rollers clean and dry. This will prolong the service lives of tubing and
pump head.
The surface of the pump head are not organic solvent and aggressive liquids
resistant. Please pay attention when using.

% Note: If atrouble happens, please contact us or our dealers.

Introduction

DG15 series pump heads are designed for medium and small flow rates,
multi-channel fluids transfer. Easy to change and fix the tubing. Occlusion
can be adjusted slightly. The rotors adopt high quality materials. The
pump head consists of base, rotor assembly and easy-to-load cartridges.

Large cartridge

Small cartridge

Technical Parameters:

Cartridge Rotor Numberof | Weight
Type  PartNumbe material | Material Rollers [ Kgl
DG15-24 | 0101171 4 0.82
DG15-28 | 0101172 | POM | RULON J 8 0.67
DG15-48 | 0101173 0.87
Type Flow Rates (mL/min)| Speed (RPM) Tubing
DG15-24 0.9-1800 <600
DG15-28 0.5x0.8 1x1 2x1
0.028 - 46 <
DG15-48 100 2.4x0.8 13" 14*
47 Note:

Pump head materials are not organic solvent resistant.

Pump Head Installation

M4x10 Screw

Rear Base

Cartridge

Front Base

Adjusting Screw

hoﬂ Mounting Hole for Pump Head

Mounting Holg for Connecting Board ro o
R @ N Location Hole for Connecting Board

o] <

Rotor Assembly

o ) Connecting Board

U

Warranty

The warranty period for this product is one year. If repair or adjustment
is necessary within the warranty period, the problem will be corrected at
no charge if it is not due to misuse or abuse on your part, as determined
by the manufacturer. Repair costs outside the warranty period, or those
resulting from product misuse or abuse, may be invoiced to you.

Dimensions

175

kij

Unit: mm
A Pump Head Pump Head Thickness
A1 DG15-24 81.5mm
A2 DG15-28 61.0 mm
A3 DG15-48 81.5mm




	页 1
	页 2

